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(4) x =5, y=-1 (5) x=-2, y=-1 (6) x=3, y=-1
=1 y=2, z=-2 (2) 2=3, y=-1, z=
B)ax=2y=1 z=-1 4)z=1y=-2 2=-1
T = rz=-1 =2 37:_2
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(1){ _ { . (2){y:_4 {y:4
7
(1) z=-4,2 (2) z=2
(1) z=11 (2) =1
PR

L) IR+ EHE2RR KD, da=4,2=1FoT, F1RFLEFHE 2cr=12RALTy=-3%5%

2) EB1IX-F2X XD, 4y=8y=-2&o7T, F1XFLFFE2:cy=2%2ALTar=-4%
(Exs

(B) H1IAx3-82RK &b, 22=4,2=2oT, B1RAFLEE 2R =22ALTy=-5%2155

4) H1RX-F2Ax2 &, Ty=79y=—%oT, H1AFLEE2:cy=-1%2RALTCax=5%
Exs

(5) 1R x4+5H2AA x3 &b, 280 =46, v =-2 &oTC, H1IRFLEFHE 2R cr=-2%KRALT
y=—-1%18%

6) HB1IRx3-F2x4 kb, 7y=-7,y=-1&>T, F1XFLEHE2RCy=-12RALT2=3
215

() IR+ E2 R kD, dr—y=2 @, B1AXx4-F3IX &Y, 20+y=4---@, O+O® &b,
6xr =6, z=1XoT, OQFLIZQIRATEZZILICED, y=282%kD, =1, y=2%8 1K~ 3
ROVWTNRIRATEZZILICED, 2= 2%152

(2) H1AX3-F 2K &0, 10y—T2=-17---©, F1KXx4- 33X kD, 5y—142=-19 --- @, Ox2-O
b 15y =-15y=-1 &-7T, (1) EAKICEDZZET, 2=3, y=-1, 2=1 %183

B) H1Ax4-F2X XY, 3z +2y=8 - @, HE1Ax2-FH3IX XY, —z+3y=1---@ ko7,
(1) L[ARRICHEDZ 2T, v=2, y=1, 2 =1 2183

(4) EB1X+HE 2K XD, 3o —4y=11---O, H 1A x4+ 3L XD, 1lz-10y=31 ---@ £oT, (1)
CARRICEDZZ T, o=1, y=-2,2=—-1 %2183

(1) y=3-—z z2H 2 WKALT, (2) y=—2z¢ 28 2 WRALT,
322 - (3—z)2 -6z +7=0 322 4+ (—22)? +6- (—22) —4=0
202 -2=0,22=1 &b z=+1 T2 — 120 —4 =0, (Tx+2)(z—2) =0 kD
r=1%Z2H1RMNALTy=2%182 T =2, _2
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v = _% H1RCRAL Ty =





